5827
5827X Opt.

See Parts List for a complete

Specifications on this page are subject to change without notice. Every attempt has been made to ensure

REV 210115-R11

listing of optional accessories.

the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



Available fully assembled as part #6852X —— 828K Available fully assembled as part #6851X

//// 6850X
) #

Rear Driveshaft Assembly % Front Driveshaft Assembly
|

6854X

3936
4x10 BCS

Modular Assembly 7

/ 3037
4x12 BCS

////// : <D S Ii28cS

REV 210115-R11
Specifications on this page are subject to change without notice.

Every attempt has been made to ensure the accuracy of this drawing; however, Traxxas cannot
be held responsible for typographical or other errors. See Parts List for a complete listing of optional accessories.



©, 3932 W %
B ax6 FCS
3032 T
|
| 3x6 FCS B4, T ; It \
P 2746
S | 3x6x0.5 MW
|
68STA opt. 6742 opt. | . | |
6837G opt. 6742Ropt. ‘
3647 6837R opt. < pb742¢ opt. 213 % ‘ -
NL M4x0.7 Flanged 6837Xopt. 364X S 410 BCS ‘ '
1747R opt./ e 312 0SS Sy | s
5116 92579 | Q@ y | . e | -
p R VUL / o 3641A 2B
£ e opt.
168 g w3t opt L3641 ont - J , e
1654X opt. : | - 6832R opt. -~ 7
4 G?QZX opt. >
1985 A S Y 5
5x8x0.5 PTW N4 S ; a»‘\’ 6839X opt.

® =
~

3642X
3x12 5569

2577
315 BCS_~ 3x10 BCS

2579 6851X
3x15 BCS 851 R opt. 5119 ) /\
g . 10x15x4 BB i i
/ S
3642X T
3x12 CSS

3641 op
3

6 .
Q 3643X opt. * ~
& 51
_8x16x5 BB
ﬁ

) NG

/

88236 ot
opt.
6823R opt. 3965

~ y\
. 25808

@

3647
| NL M4x0.7 Flanged
315605/ 6832 ot 1747R opt.
0]
st ® 2746 ‘ 4 a35x opt
5x8X25PB 5 — 3x6x.05 MW 3642X 6837
2545 ad2ces  Goaa ot /
3067 5x8x2.5 PB ‘ 8837R opt, 198
3x10 CSS 1 2335 6837X opt| 5%8x0.5 PTW
6] 67426 opt.
’ 6845X

M
5)5(3)?2,5 PB Install with rim facing upward.
Sy ) 2553
5| et s g, I
1942 < B
2 2535 % A £ ~__
REV 210115-R11 i 662 2)5(143 ccs Specifications on this page are subject to change without notice. Every

attempt has been made to ensure the accuracy of this drawing; however,

See Parts List for a complete : !
Traxxas cannot be held responsible for typographical or other errors.

listing of optional accessories.




= LIS AS

6815R — Shocks Assembly —————
\\ 3767
&

HE
3768
¢ E

3x8 BCS 2577

= / 3x10 BCS
) 4

Limiter
(rear only)

2576
3(8BCS [

2746
3x6x0,5 MW

ebohon WS .
opt.
3647 %)9(350 5PTW 1952G Og‘t. g
NL M4x0.7 Flanged g 1952T opt. 2579
1747R opt. 1952X opt.
% / 4 iz 219808 ;
1985 3x12 88 & 3x20 BCS L
<P 5xBx05PTW /\é) i) pt./ 3642% Use #1868 silcone
3644G0pt.  3x12 CSS, / shock oil
_ 3644R opt. B

See Tire/Wheel chart for product options

985
5x8x0.5 PTW

[
| wnffv ~
AR Wi 2~
191Sggzopt. S i \\.&\E:\\QI\:,,\L}L’;//{;/':/ \®
1952G opt. > b
1952T Opt. 1985 o
71952X opt. 50,5 PTW W
Q7 @ 1654 o 3647
1654X - NL M4x0.7 Flanged
-~ 1747R opt.

REV 210115-R11

See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.



.a\ —

Traxxas SCT Tires BFEderich:Mud Terrain™ T/R° . umrhtﬁlad Venture MT tires
=Y, S A€ with Foam Inserts Tires with Foam Inserts with Foam Inserts
= S1 Ultra-Soft S1 Ultra-Soft S1 Ultra-Soft
5871 Racing Compound. 6871 Racing Compound. 6870 Racing Compound.
9871R 6871R 6870R
Wheels* Assembled Wheels and Tires | Assembled Wheels and Tires | Assembled Wheels and Tires

Satin Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 5872 5873t = = = = ~
Satin Beadlock/ Satin Wheel - Slash Front 5874 5875 - - - - &
Red Beadlock/ Satin Wheel - Slash Rear or. Slash 4X4 Front/Rear 5872A 5873A 5873R s = H 5
Red Beadiock/ Satin Wheei - Siash Front 5874A - - S S = =
Black Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear: 5872X 5873X - 5878 - 5880X -
Black Beadlock/ Satin Wheel - Slash Front 5874X 5875X - - - 5881X -
Red Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 5868 5 = 5867 = = =
Red Beadlock/ Chrome Wheel - Slash Front 5870 - - 5869 - - -
Green Beadlock/ Chrome Wheel - Slash Front 5866 = = 5865 = o &
Green Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 6875 - - 6876 - - -
Orange Beadlock/ Black Wheel - Slash Front 5870X 5864 - © - z 2
Orange Beadlock/ Black Wheel -Slash Rear or Slash 4X4 Front/Rear 5868X 5863t 5863R+ - o & @

Black Beadlock/ Satin Wheel - Slash Rear or Slash 4X4 Front/Rear 6872 - - 6873t 6873X 6874 6874R

Black Beadlock/ Satin Wheel - Slash Front 5876 - - 5877 - 5882 5882R
Red Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear 6872A - - 6873A 6873R - =
Red Beadlock/ Chrome Wheel - Slash Front 5876A - - 5877A 5877R - -
Green Beadlock/ Chrome Wheel - Slash Rear or Slash 4X4 Front/Rear: Front 6872X - - - - - =
Satin Beadlock/ Black Wheel - Slash Front 5886 - - 5885 : z z
Satin Beadlock/ Black Wheel - Slash Rear or Slash 4X4 Front/Rear 5884 - - 5883 - - =
Blue Beadlock/ Black Wheel - Slash Front 5886A - ® 5885A o o ©
Blue Beadlock/ Black Wheel - Slash Rear or Slash 4X4 Front/Rear 5884A - - 5883A - - -

Specifications on this page are subject to change without notice. Every attempt has been made to ensure the accuracy of this drawing;
however, Traxxas cannot be held responsible for typographical or other errors. See Parts List for a complete listing of optional accessories.

*Wheels and/or tires sold in pairs

BFGoodrich® Tires Trademarks are used under license from Michelin Group Companies.

+TSM rated

REV 210115-R11



6884 Flat side
2575 6884 &7 — againstgear  ggg4
? 3x6 BCS ;

€z Flat side
39 & —fat
6842R-50T 68842/ " aqainst gear
6843R-52T

Optional Center Differential

6890
6890X opt.

6860A

3932

3x6 FCS
)

5 / g
3785 L // - T
Includes Leads e M’/ - 3x10 BCS l
& 1= 5119

. A~ 10x15x4 BB

5352X opt.
5351 opt.

54T
6842 50T opt.
6843 52T opt.

LS AS
REV 210115-R11

Specifications on this page are subject to change without notice. Every attempt has been made to ensure
the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors.

See Parts List for a complete
listing of optional accessories.



